do/dM [pb/GeV]

Ratio to ATLAS

13000 GeV pp Z+Jet

= | : | : | | : | : | : | | : —
— | ] %
B Dijet mass (p, > 30 GeV, ly| < 2.5, m> 40 GeV) 1z
= —:%
— i fq\
— A\
- o
- —
Em - —
10 = m —
— W27 Ho
— @ 1=
| e

1072 = —
L ] )
B ™M
- 1%
10° L ™ ATLAS s
= o Pythia 6.428 345 =3
- & Pythia 6.428 346 . ;
— —A— Pythia 6.428 370 ' —%
1074 == Pythia 6.428 ambtl =5
— e Pythia 6.428 z1 3 c
[ Pythia 6.428 22 18
- 1 un
I5
107 =&
— | | | | , = -

: T T T T | T T T T |:
2 = —2
1 1

| —0.5
.I . ) l ’ . ) . ) . ) . ) l

500 1000

M(leading, second jet) [GeV]



	Contents
	Page 1


